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�
7

+7
14
– 7

8
+6

14
– 5

5
+9

13
– 6

6
+7

13
– 9

�

= tens ones+hundreds +

�

152 One Hundred Fifty-two
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12 – 5= 7+5= 13 – 5= 5+8=

4+9= 12 – 6= 8+5= 14 – 8=




� Write  <,  >, or =.

�

2
4

5
1

5
5+

4
4
6+

1
5
2

3
3
7+

8
0
1

2
2
2

2
3
3+

5
3

9
2

9
6–

� 1 yard inches=

4

12 1
2
3

567
8
9
10
11

4

12 1
2
3

567
8
9
10
11

4

12 1
2
3

567
8
9
10
11

4

12 1
2
3

567
8
9
10
11
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13
– 7

7
+6

14
– 6

9
+5

13
– 8

14
– 7

6
+8

14
– 9

Write the amounts using a $ and decimal point.

=205¢=400¢=23¢

� What part is colored?

1
3

3
4

1
4

1
3

1
2

1
4

3
4

2
3

2
4

2
3

1
4

2
4

=

� Solve the problems.

12 – 8 +6 =7+6 – 4 =2+7 – 9

No 
New 
Facts
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�
9

+6
14
– 7

6
+8

13
– 7

7
+6

12
– 7

5
+7

13
– 5

6+9 =
9+6 =

Write the missing numbers. 

How many?

�

OUP

153 One Hundred Fifty-three

�

�

0 100 300 500 600

120110

�P �U �O
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� What part of the mailboxes are closed?

1
4

3
4

2
3

�

1
6

7
3+

2
7

3
3+

2
6

1
5

7
7+

2
2

4
3

9
0+

6
3

8
1

9
7–

	
1 yard inches=

�

clumps



15

6      9

Eva and her family were walking in the woods.
They saw eight clumps of violets and six clumps
of spring beauties.  How many clumps of wild-
flowers did they see? 

1 yard feet= 1 foot inches=
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13
– 8

5
+8

14
– 5

9
+5

6
+7

14
– 9

5
+9

8
+5

�
13 – 9= 9+4= 14 – 6= 6+9=

7+7= 14 – 8= 8+6= 13 – 6=

� How many cents?

fifty-eight cents
forty-three cents
forty-eight cents
fifty-four cents

=

Solve the problems.

6+7 – 5

=12 – 6 +8

=14 – 7 +4

No 
New 
Facts
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15 – 9=

15 – 6=

�

eighty-seven
ninety-eight
eighty-nine

�
fifty-five
five-fifty
fifty-four

During the first 7 months of school, Harold
memorized 100 Bible verses.  In the rest of the
school year, he wants to memorize 54 more.
How many verses does Harold plan to 
memorize this year?

verses

154 One Hundred Fifty-four

�

Mark set up a roadside stand to 
sell flowers from Mother’s garden. 
He earned 10 cents the first day.  The 
second day he spent 5 cents on a piece of 
gum. On the third day, he earned 7 cents.  
How much money has he saved?

+
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�
15 – 6= 4+9=

12 – 6= 8+5=

6+9= 14 – 8=

7+6= 13 – 6=




6
3

4
2+

3
4

9
4+

2
3
1

6
2
4+

4
1
3

2
4
1

4
4
3+

9
4

8
6

4
3–

How many?

�

h

� Write  <,  >, or =.

514 – 7

513 – 9 +2

841832

	 A dollar is equal to how many cents?

�h �k �D

k D

200 300 600 800
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�
13
– 8

6
+8

14
– 5

7
+7

15
– 9

9
+6

14
– 7

8
+6

5+9= 14 – 6= 5+8= 13 – 5=

14 – 9= 9+5=

13 – 7= 6+7=

Write the amounts.

=450¢=344¢ =6¢

� Measure the length of the hippopotamus in centimeters.

centimeters

No 
New 
Facts


